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Cuadro 3 (continuación 3)/Table 3 (continued 3)
Bolivia (Estado Plurinacional de): tablas abreviadas de mortalidada

 Bolivia (Plurinational State of): abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.138 0.126  100 000  12 606  91 301 0.842 b 4 856 320 48.6
1 4 0.022 0.085  87 394  7 399  329 460 0.941 c 4 765 019 54.5
5 5 0.004 0.019  79 995  1 556  396 085 0.984 4 435 559 55.4

10 5 0.003 0.013  78 439  1 052  389 563 0.984 4 039 474 51.5
15 5 0.004 0.019  77 386  1 502  383 176 0.976 3 649 911 47.2
20 5 0.006 0.029  75 884  2 201  373 916 0.971 3 266 735 43.0
25 5 0.006 0.030  73 682  2 176  362 973 0.969 2 892 819 39.3
30 5 0.007 0.032  71 507  2 316  351 742 0.965 2 529 846 35.4
35 5 0.008 0.037  69 190  2 581  339 499 0.958 2 178 104 31.5
40 5 0.009 0.046  66 609  3 094  325 313 0.947 1 838 604 27.6
45 5 0.012 0.059  63 516  3 750  308 205 0.931 1 513 291 23.8
50 5 0.016 0.079  59 766  4 745  286 969 0.906 1 205 087 20.2
55 5 0.023 0.110  55 022  6 080  259 909 0.866  918 118 16.7
60 5 0.035 0.161  48 942  7 888  224 990 0.806  658 209 13.4
65 5 0.052 0.233  41 054  9 549  181 399 0.718  433 219 10.6
70 5 0.084 0.347  31 505  10 928  130 207 0.591  251 820 8.0
75 5 0.137 0.504  20 577  10 378  76 940 0.438  121 613 5.9
80 5 0.218 0.680  10 199  6 932  33 665 0.282  44 673 4.4
85 5 0.340 0.837  3 267  2 735  9 498 0.149  11 008 3.4
90 5 0.495 0.934   532   497  1 418 0.064  1 510 2.8
95 5 0.645 0.974   35   34   90 0.013 d   91 2.6

100 ω 0.770 1.000   1   1   1   1 1.3
Mujeres/Females

0 1 0.115 0.107  100 000  10 684  92 697 0.863 b 5 152 813 51.5
1 4 0.020 0.076  89 316  6 787  338 835 0.947 c 5 060 115 56.7
5 5 0.004 0.018  82 528  1 514  408 856 0.984 4 721 280 57.2

10 5 0.003 0.013  81 014  1 076  402 379 0.984 4 312 424 53.2
15 5 0.004 0.020  79 938  1 569  395 766 0.978 3 910 045 48.9
20 5 0.005 0.025  78 369  1 964  386 934 0.973 3 514 279 44.8
25 5 0.006 0.028  76 405  2 144  376 665 0.971 3 127 345 40.9
30 5 0.006 0.030  74 261  2 224  365 746 0.968 2 750 681 37.0
35 5 0.007 0.034  72 037  2 434  354 102 0.964 2 384 935 33.1
40 5 0.008 0.039  69 603  2 688  341 297 0.958 2 030 833 29.2
45 5 0.009 0.046  66 915  3 062  326 923 0.946 1 689 537 25.2
50 5 0.013 0.062  63 854  3 967  309 352 0.926 1 362 614 21.3
55 5 0.018 0.087  59 887  5 211  286 409 0.889 1 053 262 17.6
60 5 0.029 0.138  54 677  7 521  254 580 0.827  766 853 14.0
65 5 0.048 0.213  47 155  10 067  210 608 0.733  512 273 10.9
70 5 0.081 0.336  37 088  12 464  154 281 0.600  301 664 8.1
75 5 0.134 0.497  24 624  12 242  92 515 0.444  147 384 6.0
80 5 0.214 0.672  12 382  8 320  41 108 0.288  54 869 4.4
85 5 0.336 0.834  4 061  3 387  11 840 0.152  13 761 3.4
90 5 0.490 0.932   675   629  1 801 0.066  1 921 2.8
95 5 0.624 0.970   46   44   118 0.015 d   120 2.6

100 ω 0.762 1.000   1   1   2   2 1.3

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


